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By 3% 4 Fn044£08 H 26 H eI Dt e/ 67 ko (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE AbE 10. 00| AHxf 60 600| 2,052| 1,836| 1,620
H X k¥ 15. 00 | ¥ 150 2, 250 972 918 702
X 5D BOE 10. 00| AH%F 370 3,700| 1,048 788 486
E O NAK E ¥ 4. 00 | FHxF 4 16 4, 968
H % i 3. 00| FHxf 31 93| 2,128| 1,886| 1,512
i A ] 1L 1. 00| FHxf 230 230 648 556 270
= 1| so0l A%t 5| 25| 2,160| 1,922| 1,620
A w5 5. 00 | FHx} 162 810 1,620 1,330 648
ENIE 0.50| #xt| 1,480 741 130 99| 76
= m | 0.40|#Exf| 3,020 1,208 151 130 76
= %O 4. 00| AHxf 558 2,232 2,376 1,845 1,188
[ 1N 5 5. 00| FA%f 55 275 1,944| 1,538| 1,080
EN R 500 faxt|  s18] 2,590| 1,998 1,716 1,080
B—< = 0. 15| FHx} 5, 850 881 65 59 49
A7 k= b AbiEiE 3. 00| FH%f 349 1,047 2,592 2,193| 1,728
ot E AL E 0. 10| FH%f 200 20 130
H ik w5 5. 00| FHx%f 135 675 1,944| 1,662 1,404
E ¥ JbifgE 10. 00| AH %t 340 3, 400 3, 024
£ A L 10. 00| AHxf 261 2,610 2,160 1,858| 1,512
LA R 5 % 10. 00 | #H%f 860 8,600 1,728| 1,564 864
==l H A & ¥ 4. 00| FHxf 549 2,196| 1,458 963 702
T AN = 0. 10| #H%} 1,343 135 140 110 54
Tuyal— E % 4. 00 | FH%f 10 40 2, 592
L xon A 4. 00 | FH%f 6 24 3,024
AEMEE o 0. 10| A | 3,900 390 146 106 59
ZDEH E % 0. 20| FA%F 600 120 69 44 28
LU 5 % 0. 20| FA%F 150 30 81 59 27
AA Fa—yv 5 % 5. 00| FA%F 118 590 1,544 1,392 1,307
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RHE 4 Fn044£08 H 26 H eI Dt e/ 35 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]
sE ok Fell 10. 00 | #H%f 500 5,000 4,536| 4,113 3,240
oK w5 10. 00| AHxf 250 2,500 4,536 3,987 3,024
e i SR 10. 00 | ¥ 800 8,000 7,560| 6,581 5,400
K & & 5. 00 | #H 5t 2,120 10,600 1,296 37
T7UxT e 0. 35| FHx} 400 140 265
v A —3 [ 2. 00| FA%f 81 162 1,944 953
AR O 0. 60| FHxf 60 36 410 372 281
GESTE 0.30| #1004 01| or0] 239 140
Aava 74 V¥ | 13.00| fBxf 11 143 2,484 2,425| 2,376




